SETHARTE S—HETEAE  HHf - 93.09.13

B s [ et
& S “

— BE—#EE (BES D)

1-(C) R AZEER 2 A={X|x=x+T , B={x|x’+4=2x+1xeR},
C ={x|x+1>x}, D:{x|—2<x<O,XET'L]']E\ﬁEI'V}, E={X‘X2=2,XGQ}
(A)AB)B(C)C(D)D(E)E

W: X=xX+1» T

X° +4=2x+1x*-2x+3=0,D < 0= drfjoig
X+1> X FEES = WCH e

2-(E) (ANB)'= (A) A-B' (B) B—-A (C) ANB' (D) U-(AUB) (E) A'UB’

[i#14]: (ANB)Y = A'UB’

3-(E) %A {24,233 - FI Sl fzﬁﬂ‘? (A) {1,2}c A (B) IcA (C) {L2}eA
(M]EA(E{QEA

Eir AR "[Hré Ifnzk 1,2 {12}
12{12}eA G 23cA Frsvﬁ*:;tt(E)

4-(C) %A {k+llkeZ} B={2k+1keZ},C={Bk+1lkeZ} 3 *]J%ABC_%F,FUEIJ
%Féjgr{e,au (A) AcB (B) BcC (C) BcA (D) CcB (E) AcC

ifs] A={-3 -2, -1,0,1, 2, 3}

B={---3, -11 3}
C={--5 -2,1 4 7}
.BcA

. HRE (BE 8 )
S={1, 2 3, 4} - %F}ﬂsgfjé';%j,:l\ﬂé&‘f;f[ﬁ?
i% SF[JF”TE = gi
{3 {1} {2}, {3} {4}
{1, 2}, {1, 3}, {4, 4}, {2, 3}, {2, 4}, {3, 4}
{1, 2, 3}, {1, 2, 4}, {1, 3, 4}, {2, 3, 4}
{1, 2, 3, 4}
S)—’)}Aﬁi S 4 0 SPU B 1R 21 =16

6+ FA={x|0<x<2},B= {x|x>1ﬁ‘/x<—}C {x| <x<4},D={x|x<0} > I

ﬁ(ﬂ
K‘%

[

A-B= ,CND=
: {x|%< x<1}, &
] :

£1H



7~ FA={x|x|<LxeR}B={x|x+3[<k,xeR} » FANB= - [I[| k iU}

EZ k<2
: X<1 .-1<x<1

[x+3<k ..—k<x+3<k, —k-3<x<k-3
ANB=Y .. k-3<-1 k<2
8- F%Az{x|5n<x<n2+1,XG N,ne N} ’%'[AELF—}HI"EJ 6k fin= y
A= o
: 6, {31, 32, 33, 34, 35, 36}
f245|: n*+1-5n-1=6,n"-5n-6=0
S (N=6)(n+1) =0 =67 -1(] )

EEPN
A ={31, 32, 33, 34, 35, 36} )

O~ MY 2T 48 4 R WAREBRE ] MR 23 ¢ ) 0 .
TR 18 0 PR VA 4 D
(DFKJ*J%IWTF??W_* ’(Z)E@E’Fﬁ?ﬁéj_k ° e

D(D)21 (2)7

f245|: a=23 5 c+d=18 ; d=4; a+b+c+d=48 ..c=14,b=7
SHE R b e =21 1 PRIV AED=T

10 ~ F%;% ﬁ A={(x,y)|2x—y=3}B={(x,y)|x+3y =5},C ={(y+2,x-1)[2x—y =3} /]|
ANB= » BMNC =

{2 1)},{(§, )

]
.-.{ZX—y:3 cx=2,y=1 . ANB={2 1}
X+3y=5
rl%(a,b)e BNC, ..a+3b=5

y+2=a  |y=a-2
{x—lzb "{x:b+1
2(b+1)-(a-2)=3 ..a-2b=1
{a+3b:5 13

:Sb:4,b:ia:—
a-2b=1 5 5

11~ FA={2,4,a+1},B={-4,a-2,a°-2a-3} » I IANB={2,5} * [[|A-B=
R {4
i347|: " A={2,4,a+1} ' AnB={2,5}

J.a+l=5=a=4 ..B={425} SCA-B={4} -

£2H



12 ~ F%A {1, £,B={x—ax+b=0},C ={1},
(1)F A=B,[la= b= o (¥, B=C,fJa= b=
Yk (1)54 (2)21
f2345) 1 (1) A= SoxX—ax+b=(x-1)(x-4) ..a=5b=4
(2)‘.‘B=C SxXi—ax+b=(x-1)*> ..a=2b=1
13 ~ 7% 700 o IR 2 5 5 9 7 pORRBRAVIREE i -
% %|: 460
f245] 3Ai%5~iEIfJfﬁ§?ﬁFE§Elfié%ﬁ »i=2,5 73
n(A,UAUA)
=n(A,)+n(A)+n(A)-n(A NA);-n(ANA)-N(ANA)+N(ANANA)
700 700 700 700 700 700 700
:[ 2 H 5 H 7 H10H35H14H70}
=350+140+100-70-20-50+10
=460 (f) -
14~ FA={a,b,c},B={a+13,4} > ¥ A=B - [[[[B¥(ab,c)F|___ A%
f247): " A=B *~ a¢a+1:>a=3ﬁ}4
()% a=3F > A={3.b,c},B={434={34}: .. (b,0) =3 (44 (4,3) -
(% a=4F » A={4,b,c},B={534} : .. (b,C) =(3,5) ¥ (5,3)
Jo(a,b,c) HE) B AT -
15+ ¥ U ={1,2,3,4,5,6,7,8,9} F5+ & » A={12,35,8},B={1,3,6,9},C ={2,4,6,8} » Zt:F*
() ANB'= © (@(BUC)-A=
AR (2){4,6,9%
f#47|: (L)A'={4,6,7,9},B'={2,4,5,7,8} = ANB' ={4,7} -
(20BUC =4{1,2,3,4,6,8,9} = (BUC)-A={4,6,9} -

16 ~ @ A={(x, y)|3x+2y =36 » =' x,y e NU{O}} I £ A o7 2k gt [t o
il R
s -
~ x| 02 ]12 & s h i o
3x+2y=36, y|18|15|---| 0 ;%F[AH[EJ7I[E{TU§F<0

17~ r%A {x|x =n?1<x<10000, n £5 %8}, B ={x|x =n*,1< x <10000, n -5} A- B

US|l ey flaf o
96
D A={1?, 22, 3,---, 100%}, B ={°, 2°,---, 21°}, ANB ={1°, 2°, 3°, 4°}
n(A-B)=100-4=96
18 ~ ()F e (x+1y) =By -1, 2x-1) » flJx= Y=
(7 A BRYE {1 F R Sk A={x+1y} B ={8y -1 2x-T > ¥ A=B [I[5F%f
#£3H




(x,y)=

(D11

— . X+1=3y-1
' (1){y:2x—1

(2)A=B§m{

o

(2)(1,1)39(2,%)

S.x=1y

X+1=3y-1
y=2x-1

Sy =@ ) (2, i)

19 ~ F%A FITE PRI VR

§9ﬂﬂ51%l? » D

FE L

H”]Fﬁﬁﬁiﬁij M“

:

=1

‘|

Fb » B E*‘EIID?AJ: ,7[}“[ EJJI//FE‘E&E[Jg FL‘[ » C %EHE

RS R E A 0 B A IE R YA B

X+1=2x-1
y=3y-1

fI

£ 4R

N

fI

=



